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Telephone Survey Research Laboratory, Hong Kong Institute of Asia-Pacific Studies, The
Chinese University of Hong Kong

18 Bl I ~ BREREE T E s TBER

Hong Kong citizens aged 18 or above speaking Cantonese or Mandarin

DR BN R 2% ( Computer-Assisted Telephone Interviewing, CATI) #:4T
ERITESE TIE - B )7 =05 R 71,0064 185% AR B RE s imsgny i R (12
BWEE/KFT » flkkeAA=Ry + 3.09%) - FHEEACEREELENFHEELS » [
JEZR 7 1 5530.6%5230.0% » TSR MERYER & AEAE -

Random sampling was adopted using CATI (Computer-Assisted Telephone Interview)
system. 1,005 respondents aged 18 or above speaking Cantonese or Mandarin were
interviewed. Sampling error is within £3.09% at 95% confidence level. The survey sample
contains both landline and mobile, their response rates are respectively 30.6% and 30.0%,
satisfying the scientific standards of survey.

Ry T AR FRE R MR A A I itV H BN - A& R e td Al iy
TR E AT BT SO AR SRS A ENIRERRER (weighting) - [E5) -
HR I BE S g BRI T A » SRETHRAME TR H B fH 012 7 A8 BLAE S
HHA

To better represent the distribution of the Hong Kong population, all data were weighted
by the probability of being sampled and the proportion of gender and age of people aged
18 or above (excluding foreign domestic helpers) according to the mid-year population for
2021 released by the Census and Statistics Department. The figures in this survey may not
add up due to rounding errors and weighting
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Survey Results

FF LU A BRI TR RE - 31 BT 0F - 188, EATE < FEEH ) HIEAR T T -
Note: All data were weighted for analysis. When calculating the mean, samples responded “88. Don’t know / Difficult to

say” are excluded

CRROAE T R R T B EREEREEN > ORI RE TIEERER, 0 Tk TIFEE
B o IWEREELITEBGEEREREEEIE ? ) (QLEQINIXFFEEI%ETR)
‘We would like to know how the public understands “one country, two systems” in Hong Kong. On a scale where
1 indicates “strongly disagree” and 7 indicates “strongly agree”, to what extent do you agree with the following
descriptions of Hong Kong after the handover?’ (The sequence of Q1 to Q9 will be randomly displayed)

Ql "EEFr i FAETHIEHEEE  BITREREANMTHER - (REREEE? 1277 Kg#®
BE3E?

Q1 ‘After the handover, Hong Kong has been able to practice a high degree of autonomy, and has been able to
handle its own internal administrative affairs. To what extent would you agree? From 1 to 7, what score will you

give?’
HES Horth BHRE REA R
Frequency Percentage Valid % Cumulative %
1. 1 109 10.8 10.8 10.8
2. 2 89 8.9 8.9 19.7
3. 3 136 135 135 33.2
4, 4 217 21.6 21.6 54.8
5. 5 196 195 195 74.4
6. 6 124 12.4 12.4 86.7
7. 7 96 9.5 9.5 96.3
88. UEHIHE /
RIS / SR 38 3.7 3.7 100.0
Don’t know/ Difficult to say
4E=1(Total) 1005 100.0 100.0
HXEA Valid Sample: 1005 FR{EAEZA Omitted Sample: 0
SE¥543 Mean: 4.09 fiEsE Standard Deviation: 1.768



Q2 T[EEFZi%  FHAEERFEEILEIEE - ITARERE ? 1270 (REHEKEZDE?
Q2 “After the handover, Hong Kong has been able to maintain independent judiciary powers. To what extent would

you agree? From 1 to 7, what score will you give?’

AR Hortk HRHE 7t EN T (=Pae
Frequency Percentage Valid % Cumulative %
1. 1 120 12.0 12.0 12.0
2. 2 76 7.6 7.6 19.6
3. 3 157 15.7 15.7 35.2
4, 4 209 20.8 20.8 56.0
5. 5 180 17.9 17.9 73.9
6. 6 131 13.0 13.0 86.9
7. 7 97 9.6 9.6 96.5
8. TBALE / frR 35 3.5 35 100.0
Don’t know/ Difficult to say
ga=fTotal 1005 100.0 100.0
HREA Valid Sample: 1005 H{EAEZA Omitted Sample: 0
33543 Mean: 4.06 fE%EZE Standard Deviation: 1.793

Q3 "[HEFZi% » FABERREE AN - IRERIERIE ? 1277 - IRgE&Z I ?
Q3 ‘After the handover, Hong Kong has been able to maintain independent legislative powers. To what extent

would you agree? From 1 to 7, what score will you give?’

AR Hortk HRHE 7 EN T (EPa e
Frequency Percentage Valid % Cumulative %
1. 1 129 12.8 12.8 12.8
2. 2 74 7.4 7.4 20.2
3. 3 169 16.8 16.8 36.9
4, 4 202 20.1 20.1 57.0
5. 5 164 16.3 16.3 73.3
6. 6 126 12.5 12.5 85.8
7. 7 93 9.3 9.3 95.1
88 TEAIE / Sk 49 4.9 49 100.0
Don’t know/ Difficult to say
4E=1Total 1005 100.0 100.0
HREEA Valid Sample: 1005 B EEEA Omitted Sample: 0
SE¥543 Mean: 3.99 fEAEZE Standard Deviation: 1.811



Q4 TEEFZI% » FTHENBEERFAAE T - (RERERE ? 1277 » IREHEZIUE? |
Q4 “ After the handover, the original ways of life of the Hong Kong people have maintained. To what extent would

you agree? From 1 to 7, what score will you give?’

AR Hortk HRHE 7t EN T (=Pae
Frequency Percentage Valid % Cumulative %
1. 1 68 6.8 6.8 6.8
2. 2 90 8.9 9.0 15.8
3. 3 165 16.4 16.4 32.2
4, 4 189 18.8 18.8 50.9
5. 5 181 18.0 18.0 68.9
6. 6 136 135 135 825
7. 7 151 15.0 15.0 97.5
8. VERIH / %k 25 25 25 100.0
Don’t know/ Difficult to say
g e
ga=fTotal 1 0.1 Omitted
BREEA Valid Sample: 1004 BYEREA Omitted Sample: 1
32543 Mean: 4.36 fE#EsE Standard Deviation: 1.778

Q5 "[EEFZi%  HAREBEEASmAED - (REXRERIE ? 12770 » IREHEZIUE? |
Q5 ‘After the handover, Hong Kong continues to enjoy the freedom of speech. To what extent would you agree?

From 1 to 7, what score will you give?’

HREL Horth HRE IR EN T (EPa e
Frequency Percentage Valid % Cumulative %
1. 1 182 18.1 18.2 18.2
2. 2 105 10.4 10.5 28.6
3. 3 163 16.2 16.2 44.8
4. 4 185 18.4 18.5 63.3
5. 5 150 14.9 15.0 78.3
6. 6 77 1.7 1.7 86.0
7. 7 100 9.9 10.0 95.9
8. TBNE / frR 41 41 41 100.0
Don’t know/ Difficult to say
99. RE&E[EE e
Refused to answer 3 03 Omitted
4E=t Total 1005 100.0 100.0
HRREA Valid Sample: 1002 B EEEA Omitted Sample: 3
¥4 Mean: 3.67 FEAEE Standard Deviation: 1.902



Q6 "[HfFzi% » FAMREBHEERE - IEGIEIREAEERE - Bt 3" - (A RERE ? 12
753 0 RGBSR 7
Q6 “After the handover, the development of Hong Kong’s democratic system has been progressively implemented,

following the provision of the Basic Law. To what extent would you agree? From 1 to 7, what score will you give?’

HREL Horth HEE T ZEE L
Frequency Percentage Valid % Cumulative %
1. 1 175 17.4 17.5 17.5
2. 2 142 14.2 14.2 31.7
3. 3 168 16.7 16.8 48.5
4, 4 130 13.0 13.0 61.5
5. 5 97 9.6 9.7 711
6. 6 87 8.6 8.6 79.8
7. 7 75 7.5 7.5 87.3
88, IHAIE / ﬁi&,ﬁ 127 12.7 12.7 100.0
Don’t know/ Difficult to say
#a=t Total 3 0.3 ﬂﬁ.
Omitted
H¥EA Valid Sample: 1002 HR{ERE 4 Omitted Sample: 3
SE354 Mean: 3.45 fH%EZE Standard Deviation: 1.905

Q7 TEEFZ1% » B NEERERERT—EVE - IRERERE ? 1277 IREEREZIE ? |
Q7 ‘After the handover, Hong Kongers continue to be treated equally before the Law. To what extent would you

agree? From 1 to 7, what score will you give?’

SHEL Horth HX¥ESEE BEESE
Frequency Percentage Valid % Cumulative %
1. 1 68 6.8 6.8 6.8
2. 2 71 7.0 7.0 13.8
3. 3 111 11.0 11.0 24.8
4, 4 211 21.0 21.0 45.9
5. 5 227 22.6 22.6 68.4
6. 6 150 14.9 14.9 83.3
7. 7 141 14.0 14.0 97.3
88, IEAIE / ﬁiﬁﬁ 27 2.7 2.7 100.0
Don’t know/ Difficult to say
9. RS 1005 100.0 100.0
Refused to answer
44=1 Total 68 6.8 6.8 6.8
BRREA Valid Sample: 1005 BYEREA Omitted Sample: 0
144y Mean: 4.50 fE#EsE Standard Deviation: 1.708



Q8 T[ElfFx 1% » FAEFDMIEIHERR THE - e - (IRARERE ? 1277 - IR
TUE?
Q8 “After the handover, Hong Kong is able to keep intact the sovereignty of China, national security and profits

from development projects. To what extent would you agree? From 1 to 7, what score will you give?’

SEBY Ee BREStt  BEESH
Frequency Percentage Valid % Cumulative %

1. 1 63 6.3 6.3 6.3
2. 2 32 3.2 3.2 9.4
3. 3 69 6.8 6.9 16.3
4, 4 184 18.3 18.3 34.6
5. 5 225 22.4 224 57.0
6. 6 163 16.3 16.3 73.3
7. 7 149 14.8 14.8 88.1
88. BRI / ﬁi&% 119 11.8 11.9 100.0

Don’t know/ Difficult to say
99.  fE&E[0% ) 0.2 HE

Refused to answer Omitted
BHRREA Valid Sample: 1003 FYEREA Omitted Sample: 2
354y Mean: 4.77 fEAEZE Standard Deviation: 1.669

Q9 "[HEFZ 1% » FARMUERIFIRIAERIEE - IFEREREIE ? 1277 - IRgE&ZHE ?
Q9 ‘After the handover, Hong Kong is able to maintain prosperity and stability in the long term. To what extent
would you agree? From 1 to 7, what score will you give?’

AR Horth BHRE FEE L
Frequency Percentage Valid % Cumulative %
1. 1 77 1.7 1.7 1.7
2. 2 57 5.7 5.7 134
3. 3 82 8.2 8.2 21.6
4, 4 202 20.1 20.2 41.8
5. 5 243 24.1 24.2 66.0
6. 6 195 194 19.4 85.4
7. 7 124 12.3 12.3 97.7
88. TEALE / SrREk 23 2.2 2.3 100.0
Don’t know/ Difficult to say
99. {E&E[0IE EIEN
Refused to answer 3 03 Omitted
Z8=1 Total 1005 100.0 100.0
EREA Valid Sample: 1002 BHEREA Omitted Sample: 3
SE¥g43 Mean: 4.59 WEE Standard Deviation: 1.693



Q10 " EERQUREE - IRRRTEE TG ) AR ? WRLAE TIEE R . BT AR TIE
W) s 0 1875 IRGEREZIE ? |
Q10 ‘how successful has the practice of “Hong Kong people administering Hong Kong” been? If 1 indicates “very

unsuccessful” and 7 indicates “very successful”, what score will you give?”

YEE B4 BRESE EEESHT
Frequency Percentage Valid % Cumulative %
1. 1 141 14.0 14.0 14.0
2. 2 106 10.5 10.5 24.5
3. 3 203 20.2 20.2 44.8
4. 4 219 21.7 21.7 66.5
5. 5 159 15.8 15.8 82.3
6. 6 74 7.4 7.4 89.7
7. 7 51 5.1 51 94.8
8. [EALE / R 52 5.2 5.2 100.0
Don’t know/ Difficult to say
4E=1 Total 1005 100.0 100.0
BHRREA Valid Sample: 1005 FHYEREA Omitted Sample: 0
547 Mean: 3.61 fEAEZ Standard Deviation: 1.673

Q11 T{RAMNK(E LEEMRAK (RI20474ER]) REREVEE " —EIWH 5 UE ? WR1DRE "IFEAE
Ly 0 BT TIREAEG L. 0 12T RGHREZIIE?
Q11 ‘How confident are you in the full implementation of “One Country, Two Systems” in Hong Kong in the

future (before 2047)? If 1 indicates “very unconfident” and 7 indicates “very confident”, what score will you give?’

BB Horte HRE R EN (=
Frequency Percentage Valid % Cumulative %
1. 1 161 16.0 16.0 16.0
2. 2 100 10.0 10.0 26.0
3. 3 211 21.0 21.1 47.1
4, 4 177 17.6 17.6 64.7
5. 5 121 121 121 76.8
6. 6 83 8.2 8.3 85.1
7. 7 104 10.3 10.4 95.4
88. TEAIE / Sk 46 45 46 100.0
Don’t know/ Difficult to say
99. fE&E[EE 3 0.3 R {E
Refused to answer Omitted
4=t Total 1005 100.0 100.0
BHREA Valid Sample: 1002 H{ERE A Omitted Sample: 3
~EH3957 Mean: 3.69 FEAERE Standard Deviation: 1.873



Q12 "M ENHFEIT A IR G - W9 nE SR EE RS DU - A RS L 2 AR
® TERAIEC, » BTORE TIREAGL. 121 REE%ZT?

Q12 “When conflicts between mainland China and Hong Kong arise, how confident are you that the conflicts can

be resolved through consultation and dialogue? If 1 indicates “very unconfident” and 7 indicates “very confident”,

what score will you give?’

$EB E43th AMEAE B E 5L
Frequency Percentage Valid % Cumulative %
1. 1 137 13.7 13.7 13.7
2. 2 154 15.3 15.3 29.0
3. 3 225 22.4 22.5 51.5
4, 4 123 12.3 12.3 63.8
5. 5 103 10.2 10.3 74.0
6. 6 85 8.4 8.5 82.5
7. 7 80 7.9 8.0 90.5
8. AR/ AR 9 95 95 100.0
Don’t know/ Difficult to say
99. {E&B[EE e
3 0.3 .
Refused to answer Omitted
4E=1Total 1005 100.0 100.0

HRkEA Valid Sample: 1002
21543 Mean : 3.52

B EEA Omitted Sample: 3
fE#Ez2 Standard Deviation: 1.829

Q13 "4IRLAFER TIRES B L. » TR TIFEAG L. - IMEEERERIEAERRE LT ? 127

g ARG HEZ e ?

Q13 “If 1 indicates “very unconfident” and 7 indicates “very confident”, what score will you give?’, how confident

are you in the education system of Hong Kong?’

SE Eisrtt BEStE  EEES
Frequency Percentage Valid % Cumulative %
1. 19 (FEEAEL) 121 12.0 12.0 12.0
2. 257 110 10.9 11.0 23.0
3. 35 179 17.8 17.8 40.8
4, 4% 243 24.2 24.2 65.0
5. 54y 191 19.0 19.0 84.0
6. 657 62 6.2 6.2 90.2
7. 75y (JEEHEEL) 43 4.3 4.3 94.5
88. IBRIE / {FEEE 55 55 5.5 100.0
Don’t know/ Difficult to say
99. {EEMHE 1 0.1 A {E
Refused to answer Omitted
4E=tTotal 1005 100.0 100.0

FHREZA Valid Sample: 1004
SFt54y Mean: 3.67

HEREA Omitted Sample: 1
fE#EsE Standard Deviation: 1.601



Q14 TR1pARFE TIRERRE, - ToAFE "IFERE s - B TRGEEN  BEEG - A%
[EUE ? L2757 » IRG &L TUE ? |
Q14 “If 1 indicates “extremely weak™ and 7 indicates “extremely strong”, how strongly do you identify yourself

as a Hong Konger? From 1 to 7, what score will you give?’

SES ELR FREStE  ERESH
Frequency Percentage Valid % Cumulative %
1. 1 27 2.7 2.7 2.7
2. 2 17 1.7 1.7 4.4
3. 3 67 6.7 6.7 11.1
4, 4 146 14.5 14.6 25.7
5. 5 196 19.5 19.6 45.3
6. 6 179 17.8 17.9 63.2
7. 7 275 27.4 275 90.6
g8, TEHE / FEEsE 94 9.3 94 100.0
Don’t know/ Difficult to say
9. TE4E[EE 4 0.4 HR{E
Refused to answer Omitted
4&=1 Total 1005 100.0 100.0
BHREA Valid Sample: 1001 H{ERE A Omitted Sample: 4
144y Mean: 5.32 fE#EsE Standard Deviation: 1.553

Q15 "HRINAE TIFEARE . » TRE TIEERE, o B TIRGHEIA , VEESG - RE R
[FUE ? 12773 > IREEHEZIUE ? |
Q15 “If 1 indicates “extremely weak™ and 7 indicates “extremely strong”, how strongly do you identify yourself

as a Chinese? From 1 to 7, what score will you give?’

SEB Byt BRESE BEES
Frequency Percentage Valid % Cumulative %
1. 1 77 1.7 1.7 1.7
2. 2 60 6.0 6.1 13.8
3. 3 95 9.4 9.5 23.3
4, 4 157 15.6 15.7 39.0
5. 5 140 13.9 14.0 53.0
6. 6 96 9.6 9.7 62.7
7. 7 255 25.4 25.6 88.2
88.  IEHIE / YR 117 11.7 11.8 100.0
Don’t know/ Difficult to say
99. fE&E[OIE 7 0.6 R {E
Refused to answer Omitted
4=t Total 1002 100.0 100.0
BHREA Valid Sample: 998 #{ERE A Omitted Sample: 7
SE354T Mean: 4.74 fE#E2= Standard Deviation: 1.957



Q16 "Ry AFR TIRHIBENE s - Tk TIFEME,, - (REABEIRB A SRE ? 127

g1 AR GHEZ e ?

Q16 “If 1 represents “very unsatisfied” and 7 represents “very satisfied”, how satisfied are you with the quality of

the work of civil servants?’

SEB Ee HRESE BEEEST
Frequency Percentage Valid % Cumulative %
1. 1 39 3.9 3.9 3.9
2. 2 49 4.8 4.9 8.7
3. 3 182 18.1 18.1 26.9
4, 4 299 29.8 29.9 56.7
5. 5 271 27.0 27.0 83.8
6. 6 111 11.1 111 94.9
7. 7 21 2.1 2.1 97.0
8. TEALE / AR 30 3.0 3.0 100.0
Don’t know/ Difficult to say
99.  fE&E[0% 3 0.3 HE
Refused to answer Omitted
4&=1 Total 1005 100.0 100.0

FHREAR Valid Sample: 1002
SEH4y Mean: 4.17

FEREA Omitted Sample: 3
fE#EzE Standard Deviation: 1.286

Q17 "[HEFLAZE > MEEEE T —ERHy EEERNIIIIRE DOP)E - BB - R RIE TR R
WUE ? RoE R ~ KREDT R » —FF - REDHEE - ERTE2EHERTE?

Q17 ‘After the handover, the implementation of “One Country, Two Systems” has led to conflicts between Hong

Kong and mainland China. Generally speaking, which side bears the greater responsibility? Is it totally mainland

China’s, mostly mainland China’s, mostly Hong Kong’s or totally Hong Kong’s?’

HRE "otk BRE REEEE
Frequency Percentage Valid % Cumulative %
1- 5% :\
Eé{%miﬁ; , 26 2.5 2.6 2.6
Totally Mainland China’s
SI[T L\ f2 1
2. j(l.:.ﬁﬁ{,fﬁWiﬁj Mostly Mainland 152 151 152 178
China’s
— 2 Half-Half 558 55.5 55.8 735
hvATQa 2 :
A Eb oy & & Mostly Hong g, 9.1 9.1 82.7
Kong’s
5E4{4%E 7 Totally Hong Kong’s 31 3.1 3.1 85.8
[1E A7 535 3 >
BRI /AF Sk Don't know/ ), 14.1 142 100.0
Difficult to say
99. JE4E[HE c 05 GRE]
Refused to answer ' Omitted
4=+ Total 1002 100.0 100.0

FHREA Valid Sample: 1000

HHEREA Omitted Sample: 5



Q18 " R RAEIRAEEN 20474 » DU BRI & TR 2047 - BE T T T —BIWH o AFIE 2 5 (7]
B2 TH)
Q18 ‘From now to 2047, which of the following conditions would be favourable to the continuation of “One

Country, Two Systems” after 2047?” (Multiple answers allowed)

IVESEUEEZIN 1
7L REE Bt
Frequency Percentage out of Valid
Sample
1. [3E—3
A 215 21.3
Democratising further
2. HERFEE
EHZIE _ 180 17.9
Safeguarding National Security
3. WFEIEERS
EREEEA 471 46.8
Maintaining a high degree of autonomy
4. EBUERIEIEE
EREIEREE _ - 500 49.7
Maintaining economic prosperity and stability
5. HA (5EBH)
. 5 0.5
Others (please specify)
6. HAth : BAECLHET W]
Others: “One Country, Two Systems” is not implemented 10 1.0
currently
7. HAth : 2047HE A REZ B E T BRI
Others: We should not implement “One Country, Two 4 0.4
Systems” after 2047
8. IEHIE 5
ER1E s‘@%&% 197 19.6
Don’t know/ Difficult to say
9. A
EiEEACIEIES 3 0.3
Refused to answer
44zt Total 1585 157.7%
BHREA Valid Sample: 1005 H{E 15 4Omitted Sample: 0

* MESTEREZEE (HEE) FRUAREARAE (1683 AN) HBHHY - Il » HNEHFZaiES TN —HE
Z - IEEEAEETRE S 100% -
* The percentage of an option is its frequency divided by the number of valid samples (i.e. 683). Since respondents may choose

more than one option, the sum of percentages may exceed 100%.

10



Q18_OTH " {RE2 R IRAEFI20474E » LU BRI & HEBIH204TERBETET T —BIWIH  AFIE ? |
(HAEZ)

Q19 _OTH ‘From now to 2047, which of the following conditions would be favourable to the continuation of “One

Country, Two Systems” after 2047?” (Other answers)

PAEL

Frequency

Horte

Percentage

ARE SR
Valid %

FRESTE

Cumulative %

13.

14.

15.

16.

17.

18.

19.

A, : BHERE 1

Others: Respond to public opinions

Foft, A EA R RAYER
S 1

Others: Hong Kong people has a

stronger belonging sense to China

Bt - HALEE B

Others: Hong Kong continue to be 1

liberalized

FAth, - SHERE G

Others: Hong Kong society has to O

be changed

Fph, » AR —BEWHIIES

Others: Faith for keeping “One 1

Country, Two Systems”

HAth : priFE BN S mE H

Others: Maintain freedom of 0

speech in Hong Kong

HAth © A0 Bl

Others: Public gains a sense of 2

belonging again

i

Not Applicable

1000

0.1

0.1

0.1

0.0

0.1

0.0

0.2

99.5

16.3

12.2

15.9

6.5

9.2

8.3

31.6

HE
Omitted

16.3

28.5

44.4

50.9

60.1

68.4

100.0

48=1 Total 1005

100.0

100.0

FHauEA Valid Sample: 5

11

HF{EAEZA Omitted Sample: 1000



Q19 " (S /XMHF) ik “+REFI P —#ERL - —BIRIGI A RIER - Il AR
RS IR G RIE S A EREZETE ?
Q19 “In both the 20™ National Congress of CCP and President Xi Jinping’s visit to Hong Kong, China reassured
its commitment to “One Country, Two Systems” over the long-term. Do you think that this will bring positive,
negative or have no impact on Hong Kong business environment?’

B Btk HRHE 7t EN T (=Pae
Frequency Percentage Valid % Cumulative %
1.
EE. 404 40.2 40.6 40.6
Positive
2.
S . 101 10.0 10.1 50.8
Negative
3. Eis
. 313 31.1 31.4 82.2
No impact
8. MEH178 B
ﬂﬁ/ﬁ%% 177 17.6 17.8 100.0
Don’t know/ Difficult to say
9. IE&E[OE 10 10 HE
Refused to answer ' Omitted
#a=t Total 1005 100.0 100.0
BHREA Valid Sample: 995 H{EfE A Omitted Sample: 10

Q20 "t E T im B IENE e A A T A M GE EARED B NARAT - S BRI K B2 R - TR
REEUEEEDS - WEBEDAG/K PR RS - A E  EGREZEE? |

Q20 ‘The society is debating if overseas barristers were allowed to handle non-national security cases in Hong
Kong. Do you think this will bring positive, negative or have no impact to Hong Kong’s rule of law?’

HREL Horth HRE IR EN T (EPa e
Frequency Percentage Valid % Cumulative %
1. 1EA 438 43.6 44.2 44.2
Positive
2. =Nl 196 19.5 19.8 64.0
Negative
3. fi s 2 193 19.2 19.4 83.4
No impact
8. TEAE s 165 16.4 16.6 100.0
Don’t know/ Difficult to say
9. E{SEGIEIR= 13 13 R {E
Refused to answer Omitted
48zt Total 1005 100.0 100.0
BHREA Valid Sample: 992 HR{EfE 4 Omitted Sample: 13

12



Q21 " BN IEMFEIL A E O M E R &R - SR T ILE - el A — B & IE R 2 - &
P ERTEER?

Q21 “The government is studying for a proposed legislation against false information. Do you think this will bring

positive, negative or have no impact to “One Country, Two Systems”?’

HHEL Horth BHRE REEEE
Frequency Percentage Valid % Cumulative %
1.
E@. 241 23.9 24.4 24.4
Positive
2.
S . 346 345 35.1 59.5
Negative
3. B 2
R 191 19.0 19.3 78.8
No impact
8. DEA13E S
AIE S ek 210 20.9 212 100.0
Don’t know/ Difficult to say
9. EiSHGIEILS HHE
18 1.8 .
Refused to answer Omitted
Z8=1 Total 1005 100.0 100.0
HXHEA Valid Sample: 987 H{EAEZA Omitted Sample: 18

Q22 " R IE g B R B & HA I T e e e (B e - sk ~ MAER - BIK) 2 GE - 5E
g EGREEIE?
Q22 “Would you consider living or moving to other cities of Guangdong-Hong Kong-Macau Greater Bay Area

(for study, employment, business or retirement)?’

FRE Horth HRE e BEESE
Frequency Percentage Valid % Cumulative %
1. —E% Definitely will 34 34 34 3.4
2. H]EE® Maybe 163 16.3 16.6 20.1
3. Ear No 739 735 75.2 95.3
8 RIS ﬁ%&% 46 4.6 4.7 100.0
Don’t know/ Difficult to say
9. {E&EMIE ”n 21 HR{E
Refused to answer Omitted
0. AEH (CERBEEEEE?2 0.2 HR{E
J&)
Not applicable (living in GBA
4E=T Total 1005 100.0 100.0
BHREA Valid Sample: 982 H{EfE A Omitted Sample: 23

13



Q23 " RAK LA SRR T B BB N THRIE 2

Q23 ‘Do you have any plans to emigrate from Hong Kong in the next five years?’

HREY Horth BREE REEEE
Frequency Percentage Valid % Cumulative %
HIE Yes 120 11.9 12.3 12.3
fEFTE No 758 75.4 78.1 90.5
[IEERnp B 2
BAE ﬁ%ﬁ?ﬁ 92 9.2 9.5 100.0
Don’t know/ Difficult to say
9. EiSHGIEILS HHE
30 3.0 .
Refused to answer Omitted
0. NHEH (EBR
CASNERE ) .
Not Applicable (already emigrated/ ° 0.5 Omitted

already possess right to abode in
foreign countries)

ga=+Total 1005 100.0 100.0
B3R Valid Sample: 970 H{EfE 4 Omitted Sample: 35

POL " EFYREIBUAHAEN - (RS H CHEm DU EEEEE 7 5 GEH1-6)
POL “When asked about your political inclination, which political camp do you incline to identify yourself with?’
(Read options 1-6)

HHE Horkb BRE REEEE
Frequency Percentage Valid % Cumulative %
1. ZEHR Pro-establishment 61 6.1 6.6 6.6
2. EEFJr Pro-democrat 87 8.7 9.5 16.1
3. A4k Localist 31 3.1 34 19.5
4, F1fdJR Centrist 105 10.4 114 30.9
i VAN 1
5 AE(LMTECE T No political oo 60.3 65.8 96.7
inclination
HA - ; : -
11. /\1’@. JEZE | Jk Others: Non 1 1 1 96.8
establishment
22. HAr © BE,
Aft - EE 1 1 1 96.8
Others: Patriot
HA - FEEER
23.  Others; Patriot and committed to 1 1 1 96.9
the Party
A - 2
24, A Eﬁ_ 0 .0 .0 97.0
Others: Leftist
88. B4 x
ﬂﬁ/ﬁ%ﬁ% 28 2.8 3.0 100.0
Don’t know/ Difficult to say
99. {E4R[H|% Refused to answer 84 8.4 g
4&=+Total 1005 100.0 100.0
ERUEA Valid Sample: 921 BHEREA Omitted Sample: 84
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GENDER =553 1ER Gender of respondents

SE E5rth BRESE BEESH
Frequency Percentage Valid % Cumulative %
1. 5 Male 473 47.1 47.1 47.1
2. 2 Female 532 52.9 52.9 100.0
4Bt (Total) 1005 100.0 100.0

BFkEA Valid Sample: 1005

HHEREA Omitted Sample: 0

AGE T {REFLL N EEEHLHAINE 2, ‘Which age group does you belong to?
(& H;Read options 1-6)

SE E e BREStE EREESH
Frequency Percentage Valid % Cumulative %

1. 18-29 132 13.1 131 13.1

2. 30-39 157 15.6 15.6 28.8

3. 40-49 171 17.0 17.0 45.8

4, 50-59 189 18.8 18.8 64.6

5. 60-69 189 18.8 18.8 83.4

6. >70 167 16.6 16.6 100.0

4&=1 (Total) 1005 100.0 100.0

BFEA Valid Sample: 1005

HHEREA Omitted Sample: 0

EDU I 2 5128 EF32UE 2 | ‘What is your educational attainment?’
HRE Hortk BRE TR ZEE L
Frequency Percentage Valid % Cumulative %
1. /NEECLLR Primary or below 82 8.2 8.6 8.6
2. ?SE)P (th—% =) Secondary (F.1- 5, 12.9 135 22.1
g T (HPUEPLAARL) Secondary g, 28.6 30.0 52.1
(F.4-F.7)
4. = FIEEA (BIESUEEIEAAVE
) _ 1857 15.6 16.4 68.5
Non-degree tertiary (including
diplomas, associate degrees, IVE, etc.)
NEZEEAT Bachelor’s degree 235 23.4 24,5 93.0
WoEks (EFEEIAT L)
Postgraduate  degree  (including 67 6.7 7.0 100.0
master’s and doctoral degree)
9. FE4E[0]’Z Refused to answer 46 46 ﬁ}%@
Omitted
ga=t (Total) 1005 100.0 100.0

HREA Valid Sample: 960

15

B EREA Omitted Sample: 45



WORK " {i H Ai{&IE(4/ERE A IE 2 | ‘Are you currently an employed person?’

FREL Horth ARE e BEESLE
Frequency Percentage Valid % Cumulative
#£§#% A+ Employed 575 57.3 59.1 59.1
F S Homemaker 75 75 1.7 66.8
3. IBfk Retired person 218 21.7 224 89.3
4. R LAR /ROK 43 4.3 4.4 93.6
Job seeker
5. B/ Student 62 6.2 6.4 100.0
9. FE48[0)% Refused to answer 31 31 ﬂﬁ.
Omitted
4aE=1(Total) 1003 100.0 100.0

FHREAR Valid Sample: 960
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AR AR
Explanatory Notes on Weighting

AR EARNEAE (Dual frame) SWEESEHEHEESGT - BTG S T & B EE MRS SIET
TSRS TR NE 2L B Y B SE SRS EEA - RN FIR A R = G 4 BB sE SR S A1 ISR EE I A B BUR % -
AT HER AR BB AL - it S R (B BEAE 2R BB s At A R RN R AT RIS I R itat - A&
B LU MR I 2

The telephone survey uses a dual-frame sampling design. It randomly selects phone numbers from a combined
sample of residential landline and mobile phone numbers. Given many individuals may own both landline and
mobile phone numbers, two steps were added in the weighting method to avoid estimation inaccuracy caused by
double-counting or other unknown factors. The weight factors are as below.

FB—  EENRAR
Step 1: Telephone ownership

HEAFEA A R 8 E FI B RO B SRR - Mgt VR A AR - BAIFREA — AHEEE R
RIS - PR EEERZ BB Pt E R - AP0 2 38 WA % EE M SR A
FHESRISEE - b5 EE RS K TR -

Since each individual owns a different amount of landline and mobile numbers, each has a different probability of
selection as respondents. To eliminate over-representation of any individual, the first step is to approximate the
probability of selection for each respondent. It is a ratio of the amount of landline and mobile numbers owned by
a respondent to the total number of those in the territory.

L
= Ir\l]—i Z—ZL+ ]r\l]—: x t"

=t i = Fih Ay A

n, = X EE A S AR H

N, = EHIE SRR oL

ti = Fi AL P A EE SR E

ef = EFTEERZIHAR

N = SR RN =]

Np, = IR Ry Al i

" = Fita N LA ABEA R TSRS H
Where i = i-th person selected

ng, = amount of sample’s landline numbers

N, = amount of population’s landline numbers

th = amount of i-th person’s landline numbers

ek = amount of eligible respondents in the household
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Ny, = amount of sample’s mobile numbers
N = amount of population’s mobile numbers
t" = amount of i-th person’s mobile numbers

IERTL (WTL) ZatBE T R zan il renfny@img &S BWTLi=mt -
Weighting factor 1 (WT1,) is calculated by the inverse of probability of selection of individual i, i.e. WT1; = m™.

SR AOEE

Step 2: Population estimates

FH > A B ah e G FU 2 DA 48 R TS R B iy (RIS R dEatsitls) -~ M ERle AD A
> By T IReE I EBIR EAE B N MV EE B - BIRA R T TR R E BT e A ffify2021
P8R L, EVER R e i (FURRINERER L) - fOfERT-2 (WT2) #UstREIT% - 2IEAO
et R R AL AR A DO ilEt > BRUACENIRER T LD HER & P e Y N A -

As the telephone survey uses a dual-frame sampling design which samples from phone numbers for residential
landlines and mobile phones (i.e. all samples are telephone numbers). To better represent the distribution of the
Hong Kong population, all data were weighted by the proportion of gender and age of people aged 18 or above
(excluding foreign domestic helpers) according to the mid-year population for 2019 released by the Census and
Statistics Department. Weighting factor 2 (WT2) is calculated by dividing the population estimates of a gender
and age group by the sample size of the corresponding group adjusted by weighting factor 1.

SEHIREN T LhIFEIRHY
202VFEPR NG (%) |BeEgaaten
G| Mid-year Population A5 (%) HOREAT
Age Group Distribution for 2019 Population  Distribution ~ of|\Weighting Factors
(%) Survey after weighted by WT1
(%)
B Male 7 Female B Male % Female B Male % Female
(A) (B © (D) (A+C) (B+D)
18-29 401400 390100 748955 704622 0.535946676 |0.553630534
30-39 451200 493200 647078 651300 0.697288282 |0.757254571
40-49 466900 561600 722783 649749 0.645975779 |0.864334234
50-59 510300 625900 712249 764871 0.716463193 |0.818308136
60-69 552100 582400 739049 631816 0.747040703 |0.921786680
>70 462100 540000 586440 553413 0.787975568 |0.975762794
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& FEE Final Step

B IFER T AT ETANT ¢

The final weighting factor is calculated by the following formula.

WT_F =WT1 «WT2

= WT_F = AR NIRRT
WT1 = DIFER -1
WT2 = IIFER -2

Where WT_F = Final weighting factor
WT1 = Weighting factor 1
WT2 = Weighting factor 2
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